980577

/

NSP 225 2SK88+25K4 L

20.05.2020 /




@ A Y2 35 %15 m @1 VB23
| 20x 18 Bx | gm 12x A 8x
111102 121370 M 252
c M6 x 11 mm T6
20 x 18 x 16 x 8 x Ly x
111103 12 616 121181
3,5 x 35 mm Gu' M& x 9 mm Ga K1
L x ¥ | Bx b/ L Ly x
121375 111015 117 001
L2k K21 L X W5m§mp15 L7
2x | 7 x s | 1X % 2 L x 9 x
12 403 111 235 121120 111 610
g\ /% /% 1X
® 3 @3
S
9 L08x439x25| [0 =
2205x560x15 L29x540x18 =
= 10 mm %
[ee) —
@ BX § 2><@ 20 mm ;
L . @ |2 =
2205%560x15 NN J0mm =
L0 mm ;
50 mm ;

837TxL39x15

837TxL39x15

: : : - : : : QX@/-' /
206L4x560x15 2001x560x15 2064x560x15 883x168x15
2><(: s é
o 439x168x15
3%
o el |6 3.

2015%xL38x2 .5

2021x439x15 2021x439x15  2015x882x2,5

980577

20.05.2020 /

2/29




121375

C

0520]3/29

20.05.2020 /

9805717




111103

9805717

20.05.2020 /

0520 4/29




928mm

—_
=

9728mm

—_—
—

120mm

\ 112 268

. . /.
P4 §§ A88mm
' y
)
928mm
M &
o y
i
928mm
<
M &
' y
< )
120mm
¥
980577 20.05.2020 / 0520]5/29




72,5mm

672mm

512mm

672mm

@ F

111229

111102

112 268

9805717

20.05.2020 /

05 20

6/29




172mm

898,5mm

112 190

112 616

13

9805717

20.05.2020 /

05 20

1/29




111102

%‘.“!‘
112 268

72,5mm

672mm

512mm

672mm

72 5mm

9805717

20.05.2020 /

05 20

8/29




898, 5mm

112 190

112 616

9805717

20.05.2020 /

05 20

9/29




10

172mm

898,5mm

@ 2 E v M6 x 10 T3
111235 112 190 12 616
980577 | 20.05.2020 / 0520 [10/29




1

@ F

111229

9805717

20.05.2020 /

05 20

11/29




111174

Mﬁxﬂm T6

121181

S

9805717

20.05.2020 /

0520 [12/29




14

111174

M6 x 11

121181

n

111174

M6 x 11 mm

T6

9805717

20.05.2020 /

05 20

13/29




16

111174

M6 x 11

111174

M6 x 11 mm T6

9805717

20.05.2020 /

05 20 |14/29




9805717

20.05.2020 /




20

1M7L

J’lMémem

121181

16

9805717

20.05.2020 /

05 20

16/29




@K’I

17001

3,5 x 15 mm

o

121370

@1

111610

9805717

20.05.2020 /

05 20

17/29




@ 10mm

121120

SP15

il L7

s

e ]

N

it

9805717

20.05.2020 /

05 20

18/29




)

111111

111111

9805717

20.05.2020 /

05 20

19/29




9805717

20.05.2020 /

05 20

00/29




9805717

20.05.2020 /

05 20

01/29




9805717

20.05.2020 /

05 20

02/29




980577 | 20.05.2020 /

0520 P3/29




30

980577

20.05.2020 /

05 20

PL/29




05 20 P5/29

20.05.2020 /

9805717




37

32A

328

222222

§\\i§;> L X 27mm

SP27"”

980577

20.05.2020 /

05 20

06/29




33

. 010

N gjj/ﬁmﬁg
Y

280517

20.05.2020 /

52007729




Wod'3uUO-XaWIMEH 33IAJ3S Bl EE 8658 L0%G0 (67+)XBd 0 8658 10%50 (69+) 181
AURWIRD /344NyuaIIeWSBI03D ZUL6Y /L0l UWWRIISOd / DYOT % HGWD S|3PURH 10dxT 4J0du| JIepaquyop X IWIM

uswwoudaqn bunyyey 13113U13y U3PEYISYIRS JBPO /pUn

-U3u0SJad 13q pdim 3bejuol JaydsjuuBWYIRY JUYIIU J3PO /PUN J3BIGRWSIIYISIOA JUdIU 139
| JOA SUN Jim U3 41eyYaq'puls 4apInyasab J11aydslo4 uaydsiuyda} wap 31p uabundapuy

05 20 P8/29

20.05.2020 /

(X¥) 1D 0LE 12D

980577

(=]

-p=N

° 0 \ &

()=




23203 00K |-

MAX MUSTERMANN

Kommission / your order re

3377 MINDEN .

Dekor / Decor

Decor / Modell / Mode
F99 (_SAMPLE
F99842  SCHW! REN AL

Ut v
PLANKENEICHE NB + RAY§ STEEI

/ Modele

00 CM H 216CH

SOCKEL

Paket NG "o

HSP-SWI_ BOD S0MFEXT/HEX SOCKEINS2 FRESH ™ 7 *
$0-BOD TEXT RASTEX/#ZWBOD D18MWN{X KLSTA 104

IMEX Wohnbedarf
ort Export Handelsges mbH & Co. KG
Montage - Anleitung T 520,0 Wer
KS-64 ... ... Al D-4912%Georgsmarienhditte - Germany
SOCKEL32 KLEB
SAMPLE 23.08.19

Modellname Produktionsdatum
Model Date of manufacture

E

—

980577 | 20.05.2020 / 0520 P9/29




980301

SP27

L X 727 Tmm

980301 21.06.07 / 161217 |1217 | 1/1




	MA_980577_2005_kompl DV.pdf
	MA_980301_1712_kompl DV.pdf

